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�D>7D4<<4 E>EF46?5=4 =4 >E=>65 $��% �� ?> =4?D46?5=<N 13.03.02  

«-?5>FD>M=5D75F<>4 < M?5>FD>F5E=<>4» ?> 4<EF<??<=4<, O6?ONM<<EO 547>6O<< 
4?O >5GG5=<O 6 <47<EFD4FGD5 ?> =4?D46?5=<N 13.04.02  «-?5>FD>M=5D75F<>4 < 
M?5>FD>F5E=<>4» ?D>7D4<<4< «-?5>FD>?D<6>4O < E<EF5<O G?D46?5=<O 
M?5>FD>?D<6>4>6», «-?5>FD>M=5D75F<G5E><5 E<EF5<O». 

 

I. �5D5G5=L M?5<5=F>6 E>45D64=<O, 
?D>65DO5<OE =4 6EFG?<F5?L=>< <E?OF4=<<  

 

$4745? 1. «&5>D5F<G5E><5 >E=>6O M?5>FD>F5E=<><» 

1. �4D4<5FDO M?5>FD<G5E><E F5?5=. �4>>=O �<DE7>D4. [1. �?.2] 

2. �<=5==O5 F5?< ?5D5<5==>7> F>>4. L < C < <E E4D4>F5D<EF<><. [1. �?.3] 

3. �>?=>5 E>?D>F<6?5=<5. �7=>65==4O < ?>FD55?O5<4O 4>F<6=4O <>M=>EFL. 
4. /6?5=<5 674<<=>= M?5>FD><47=<F=>= <=4G>F<<. �74<<=4O <=4G>F<6-

=>EFL. [1. �?.3] 

5. �454?L=O= FD4=ED>D<4F>D. �<=5==O= FD4=ED>D<4F>D. %E5<O 74<5M5-
=<O FD4=ED>D<4F>D4. [1. �?.3] 

6. �5M55 GE?>6<5 D57>=4=E4. $57>=4=E =4?DO65=<=. $57>=4=E F>>>6. [1. 

�?.3] 

7. �D5<<GM5EF64 FD5ED47=OE F5?5=. �>?GG5=<5 6D4M4NM57>EO <47=<F=>-
7> ?>?O, ?D<=F<? D45>FO 4E<=ED>==>7> 46<74F5?O. [1. �?.6] 

8. �>=OF<5 > <5F>45 E<<<5FD<G=OE E>EF46?ONM<E. [1. �?.6] 

9. �5?<G<=O < >>MDD<F<5=FO, E4D4>F5D<7GNM<5 =5E<=GE><44?L=O= D5-
6<<:  <4>E<<4?L=>5, 45=EF6GNM55 < ED54=55 7=4G5=<O; >>MDD<F<5=FO 4<??<FG4O 
< <E>465=<O. [1. �?.7] 

10. %E5<O 74<5M5=<O G5FOD5E?>?NE=<>>6. [1. �?.4] 

11. %4D4>F5D<EF<G5E>>5 E>?D>F<6?5=<5 G5FOD5E?>?NE=<>4. [1. �?.4] 

12. �4?<EL GD46=5=<= �<DE7>D4 4?O F5?5= E G5FOD5E?>?NE=<>4<<. [1. �?.4] 

13. -?5>FD<G5E><5 D<?LFDO. �47=4G5=<5, ?D<=F<? D45>FO, >?4EE<D<>4F<O. 
[1. �?.5] 

14. �5D5E>4=O5 ?D>F5EEO 6 ?<=5==OE M?5>FD<G5E><E F5?OE. �>=OF<O, =5>5-
E>4<<O5 < 4>EF4F>G=O5 GE?>6<O EGM5EF6>64=<O ?5D5E>4=OE ?D>F5EE>6 6 M?5>-
FD<G5E><E F5?OE. [1. �?.8] 

15. �4>>=O >><<GF4F<<. �5D5E>4=O= ?D>F5EE 6 RL, RC < RLC F5?OE. [1. 

�?.8] 

16. �>=OF<O ?5D544F>G=OE DG=>F<=. [1. �?.8] 

17. �5?<=5==O5 M?5>FD<G5E><5 F5?< ?>EF>O==>7> F>>4. �>=OF<O >5 M?5<5=-
F4E < E6>=EF64E =5?<=5==OE F5?5=. [1. �?.13] 

18. �?4EE<D<>4F<O =5?<=5==OE M?5<5=F>6. �>?LF-4<?5D=O5 E4D4>F5D<EF<>< 

=5?<=5==OE M?5<5=F>6. [1. �?.13] 
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$4745? 2 «-?5>FD<G5E><5 <4L<=O» 

1. �E4D4>F5D<7G=F5 ?D<=F<? D45>FO < GEFD>=EF6> FD4=ED>D<4F>D>6 [2,F.1, 
EFD. 21-35]. 

2. �4>>= FD4=ED>D<4F>D =47O645FEO ?D<6545==O<. %>EF46LF5 EE5<G 74<5-
M5=<O FD4=ED>D<4F>D4[2, F.1,  EFD. 56-62]. 

3. %D>D<G?<DG=F5 GE?>6<O, >>F>DO5 =5>5E>4<<> 6O?>?=<FL < ?>G5<G, ?D< 
6>?NG5=<< FD4=ED>D<4F>D>6 =4 ?4D4??5?L=GN D45>FG. �4> >?D545?<FL D4E?D545-
?5=<5 <>M=>EF< <564G FD4=ED>D<4F>D4<<, D45>F4NM<<< ?4D4??5?L=>[2, F.1,  
EFD. 133-139]. 

4. �4>>5 6?<O=<5 >>47O645F =4 D45>FG FD5ED47=OE FD4=ED>D<4F>D>6 
=5E<<<5FD<O =47DG7><. �4><5 >7D4=<G5=<O 6 E6O7< E MF<< 6>7=<>4NF[2, F.1,  EFD. 
140-158]. 

5. � D57G?LF4F5, >4><E O6?5=<= 6 >5<>F>4E FD4=ED>D<4F>D4 6>7=<>4NF ?5-
D5=4?DO65=<O. �4><5 EGM5EF6GNF <5F>4O 74M<FO FD4=ED>D<4F>D4 >F ?5D5=4?DO-
65=<O[2, F.1,  EFD. 166-171]. 

6. �4><5 F<?O 55E>>??5>F>D=OE <4L<= ?5D5<5==>7> F>>4 �O 7=45F5. �4>>-
6O >5?4EF< <E ?D<<5=5=<O[2, F.1,  EFD. 185-199]. 

7. �E4D4>F5D<7G=F5 FD5ED47=O5 >5<>F>< <4L<= ?5D5<5==>7> F>>4. %D46-
=<F5 <E ?D5<<GM5EF64 < =54>EF4F><[2, F.1,  EFD. 242-266]. 

8. 'F> F4>>5 >5<>F>G=O= >>MDD<F<5=F < >4> >= 6OG<E?O5FEO[2, F.1,  EFD. 
333-350]. 

9. �E4D4>F5D<7G=F5 ��%, E>744645<>= >4=>D47=>= >5<>F>>= < FD5ED47=>= 
>5<>F>>=[2, F.1, EFD. 274-300]. 

10. �F G57> 746<E<F G4EF>F4 < =4?D46?5=<5 6D4M5=<O <47=<F=>7> ?>?O, E>-
744645<>7> FD5ED47=>= >5<>F>>=. �4> <7<5=<FL =4?D46?5=<5 6D4M5=<O ?>?O. [2, 

F.1, EFD. 333-350]. 

11. �4>4O G4EFL <47=<F=>7> ?>?O, E>744645<4O >5<>F>>= <4L<=O ?5D5<5=-
=>7> F>>4, =47O645FEO ?>?5< D4EE5O=<O. �7 >4><E E>EF46?ONM<E >=4 E>EF><F[2, 

F.1, EFD. 351-361]. 

12. �5NOE=<F5 GEFD>=EF6>, ?D<=F<? 45=EF6<O < >5?4EFL ?D<<5=5=<O E<=-
ED>==OE <4L<=[3,F.2, EFD. 3-34]. 

13. 'F> F4>>5 D54>F<O O>>DO < >4>>5 6?<O=<5 >=4 >>47O645F =4 D45>FG E<=-
ED>==>7> 75=5D4F>D4[3,F.2, EFD. 61-103]. 

14. �4>>= D56<< =47O645FEO ?4D4??5?L=>= D45>F>= E<=ED>==OE 75=5D4F>-
D>6. �>744 6>7=<>45F =5>5E>4<<>EFL ?4D4??5?L=>= D45>FO 75=5D4F>D>6[3,F.2, EFD. 
134-166]. 

15. �4><5 GE?>6<O =5>5E>4<<> 6O?>?=<FL 4?O 6>?NG5=<O E<=ED>==OE 75=5-
D4F>D>6 =4 ?4D4??5?L=GN D45>FG. �4><5 E?>E>5O E<=ED>=<74F<< ?D<<5=ONFEO =4 
?D4>F<>5[3,F.2, EFD. 167-175]. 
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16. %D>D<<DG=F5 ?D<=F<? >5D4F<<>EF< E<=ED>==OE <4L<=. �4> D45>F4N-
M<= E<=ED>==O= 46<74F5?L ?5D565EF< 6 D56<< 75=5D4F>D4 < =4>5>D>F[3,F.2, EFD. 
159-166]. 

17. �4><5 E>?D>F<6?5=<O E<=ED>==>7> 75=5D4F>D4 =47O64NFEO E65DE?5D5-
E>4=O<<. 'F> >=< E4D4>F5D<7GNF[3,F.2, EFD. 499-520].. 

18. '5< >5NOE=<FL >>?554F5?L=O= E4D4>F5D 6D4M5=<O E<=ED>==OE <4L<= 
?D< D57>>< <7<5=5=<< D56<<4 55 D45>FO[3,F.2, EFD. 192-203]. 

19. '5< >F?<G45FEO D45>F4 4E<=ED>==>= <4L<=O ?D< =5?>46<6=>< < 6D4-
M4NM5<EO D>F>D5. �4> 746<EOF -�% < G4EF>F4 F>>4 6 >5<>F>5 D>F>D4 >F E>>?L65-
=<O[2,F.1, EFD. 507-517]. 

20. �4><5 E?>E>5O ?GE>4 ?D<<5=ONFEO 4?O 4E<=ED>==OE 46<74F5?5= E >>-
D>F>>74<>=GFO< D>F>D>< < >4><5 3 4?O 4E<=ED>==OE 46<74F5?5= E D47=O< D>F>-
D><. %D46=<F5 ?GE>>6O5 E6>=EF64 MF<E 46<74F5?5=[2,F.1, EFD. 561-569]. 

21. �?<L<F5 D45>FG 4E<=ED>==>= <4L<=O 6 D56<<5 <=4G>F<>==>7> D57G?O-
F>D4[2,F.1, EFD. 614-617].. 

22. �4><5 E?>E>5O D57G?<D>64=<O E>>D>EF< 6D4M5=<O D>F>D4 ?D<<5=ONFEO 6 
4E<=ED>==OE 46<74F5?OE[2,F.1, EFD. 573-585]. 

23. �4><5 4E<=ED>==O5 46<74F5?< E G?GGL5==O<< ?GE>>6O<< E4D4>F5D<-
EF<>4<< �O 7=45F5. '>46<F5 <E 4>EF><=EF6> < =54>EF4F><[2,F.1, EFD. 565-569]. 

24. $56<<O D45>FO 46<74F5?O ?>EF>O==>7> F>>4 =5746<E<<>7> 6>75G645=<O. 
�E EE5<=4O D54?<74F<O < <5E4=<G5E><5 E4D4>F5D<EF<><. 'D46=5=<O <5E4=<G5E>>= 
E4D4>F5D<EF<>< 6 D47?<G=OE D56<<4E D45>FO[2,F.1, EFD. 507-517].. 

25. $56<<O D45>FO 46<74F5?O ?>EF>O==>7> F>>4 ?>E?54>64F5?L=>7> 6>75G6-
45=<O. �E EE5<=4O D54?<74F<O < <5E4=<G5E><5 E4D4>F5D<EF<><[2,F.1, EFD. 263-

341]. 

26. $56<<O D45>FO 46<74F5?O ?>EF>O==>7> F>>4 E<5L4==>7> 6>75G645=<O. 
�E EE5<=4O D54?<74F<O < <5E4=<G5E><5 E4D4>F5D<EF<><[2,F.1, EFD. 263-341]. 

27. $56<<O D45>FO 4E<=ED>==>7> 46<74F5?O. �E D54?<74F<O < <5E4=<G5E><5 
E4D4>F5D<EF<><[2,F.1, EFD. 518-544]. 

28. $56<<O D45>FO E<=ED>==>7> 46<74F5?O. �5E4=<G5E>4O < G7?>64O E4D4>-
F5D<EF<><. �4> >EGM5EF6?O5FEO ?GE> E<=ED>==OE M?5>FD>46<74F5?5=[3,F.2, EFD. 
113-128, 167-190]. 

29. %?>E>5O D57G?<D>64=<O E>>D>EF< 46<74F5?O ?>EF>O==>7> F>>4 =5746<E<-
<>7> 6>75G645=<O. �5E4=<G5E><5 E4D4>F5D<EF<>< 46<74F5?O ?D< D47?<G=OE E?>-
E>54E D57G?<D>64=<O[3,F.2, EFD. 263-341]. 

30. �5?4EF< ?D<<5=5=<O < >D4F>4O E4D4>F5D<EF<>4 E?>E>5>6 D57G?<D>64=<O 
E>>D>EF< 4E<=ED>==>7> M?5>FD>46<74F5?O <7<5=5=<5< 4>546>G=OE E>?D>F<6?5=<= 
6 F5?< D>F>D4 < 4>546>G=>= -�% 6 F5?< D>F>D4. %E5<O 6>?NG5=<O < <5E4=<G5-
E><5  E4D4>F5D<EF<><[2,F.1, EFD. 564-585]. 

31. �5?4EF< ?D<<5=5=<O < >D4F>4O E4D4>F5D<EF<>4 E?>E>5>6 D57G?<D>64=<O 
E>>D>EF< 4E<=ED>==>7> M?5>FD>46<74F5?O <7<5=5=<5< G<E?4 ?4D ?>?NE>6, <7<5-
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=5=<5< =4?DO65=<O, G4EF>F=>5. �5E4=<G5E><5 E4D4>F5D<EF<><[2,F.1, EFD. 564-

585]. 

32. �5E4=<G5E><5 E4D4>F5D<EF<>< G4EF>F=>-D57G?<DG5<>7> 4E<=ED>==>7> 
M?5>FD>46<74F5?O ?D< D47?<G=OE DG=>F<>=4?L=OE 746<E<<>EFOE U/f, ?>EF>O=EF64 
?>F>>>EF5??5=<O EF4F>D4 3 IR >><?5=E4F<<. �>EF><=EF64 < =54>EF4F>< MF<E E?>-
E>5>6[2,F.1, EFD. 564-585]. 

33. �5E4=<G5E><5 E4D4>F5D<EF<>< G4EF>F=>-D57G?<DG5<>7> 4E<=ED>==>7> 
M?5>FD>46<74F5?O ?D< ?>EF>O=EF65 7?46=>7> ?>F>>>EF5??5=<O 46<74F5?O, ?>EF>O=-
EF64 ?>F>>>EF5??5=<O D>F>D4. �>EF><=EF64 < =54>EF4F>< MF<E E?>E>5>6[2,F.1, EFD. 
564-585]. 

 

$4745? 3. «�5M4O M=5D75F<>4» 

1. �>=OF<O «M=5D75F<G5E>4O E<EF5<4», «M?5>FD>M=5D75F<G5E>4O E<EF5<4», «E<-
EF5<4 M?5>FD>E=4565=<O». [4. �?.2] 

2. %>6D5<5==4O >D74=<74F<>==>-?D46>64O EFDG>FGD4 M=5D7>E<EF5<O $>EE<<. 
[4. �?.2] 

3.  �>=OF<O «M=5D7>D5EGDEO» < «M=5D7>=>E<F5?<». &5==>EFL < E4D4>F5D<EF<>< 
D47?<G=OE 6<4>6 F>??<6. [4. �?.1] 

4. �5M4O E4D4>F5D<EF<>4 E<EF5< M?5>FD>E=4565=<O. [4. �?.5] 

5. �E>55==>EF< 4<E?5FG5DE>>7> G?D46?5=<O 6 E>6D5<5==>= M?5>FD>M=5D75F<>5. 
[4. �?.3] 

6.  �>7>5=>6?O5<O5 <EF>G=<>< M=5D7<<. �E=>6=O5 6<4O < E4D4>F5D<EF<>< 
M?5>FD>EF4=F<=, <E?>?L7GNM<E 6>7>5=>6?O5<O5 <EF>G=<>< M=5D7<<. [4. �?.17] 

7. �E=>6=O5 7444G< < GE?>6<O D>D<<D>64=<O E<EF5< M?5>FD>E=4565=<O. [4. �?. 
5] 

8. �?4EE<D<>4F<O D56<<>6 --%. [4. �?.3] 

9. %?>E>5O < ED54EF64 G?D46?5=<O D56<<4<< --%. [4. �?.3] 

10. $57G?<D>64=<5 =4?DO65=<O 6 M?5>FD<G5E><E E5FOE <5F>4>< <7<5=5=<O >>-
MDD<F<5=F4 FD4=ED>D<4F<<, $��. [4. �?.8] 

11. �>>474F5?< >4G5EF64 M?5>FD>M=5D7<<. [4. �?.6] 

12.  %E5<O 74<5M5=<O �-� D47?<G=OE >?4EE>6 =4?DO65=<O. [4. �?.10] 

13. �5M4O E4D4>F5D<EF<>4 6>74GL=>= ?<=<< < GE?>6<= 5U D45>FO. [4. �?.10] 

14. �5M4O E4D4>F5D<EF<>4 >455?L=OE ?<=<=. [4. �?.10]  

15. &5E=>?>7<G5E><= ?D>F5EE ?D><76>4EF64 M?5>FD>M=5D7<< =4 �-% E D54>F>-
D4<< ��. [4. �?.4] 

16. %FDG>FGD4, >E=>6=O5 E4D4>F5D<EF<>< < ?GF< D476<F<O M?5>FD>M=5D75F<>< 
$>EE<<. [5. �?.2] 

17.  &5E=>?>7<G5E><= ?D>F5EE ?D><76>4EF64 M?5>FD>M=5D7<< =4 ?4D>FGD5<==OE 
&-%. [5. �?.4] 

18.  &5E=>?>7<G5E><= ?D>F5EE ?D><76>4EF64 M?5>FD>M=5D7<< =4 �-% E D54>F>-
D4<< ��-$. [5. �?.4] 
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19. &5E=>?>7<G5E><= ?D>F5EE ?D><76>4EF64 M?5>FD>M=5D7<< =4 �-% E D54>F>-
D4<< $���. [5. �?.4] 

20.  �?4EE<D<>4F<O EE5< D4E?D545?<F5?L=OE GEFD>=EF6. [4. �?.4] 

21. $56<<O =5=FD4?<. [4. �?.5] 

22. &5E=>?>7<G5E><= ?D>F5EE ?D><76>4EF64 M?5>FD>M=5D7<< =4 747>FGD5<==OE < 
?4D>747>6OE M?5>FD>EF4=F<OE. [5. �?.4] 

23. �D>?GE>=4O E?>E>5=>EFL ?<=<= M?5>FD>?5D544G D47?<G=>7> =47=4G5=<O. [4. 

�?.10] 

24. 'EF>=G<6>EFL ?<=<= M?5>FD>?5D544G D47?<G=>7> =47=4G5=<O. [4. �?.3] 

25. �444G< < ED54EF64 D5?5==>= 46F><4F<><. [4. �?.13] 

26.  %>6D5<5==O5 ?D>5?5<O G?D46?5=<O M?5>FD>M=5D75F<G5E><<< E<EF5<4<<. 
[4. �?.3] 

 

II. &D55>64=<O > GD>6=N ?>47>F>6>< ?>EFG?4NM57> 

 

�>EFG?4NM<= 4>?65=: 
 7=4FL: 
- F5>D<N F5?5= ?>EF>O==>7> < ?5D5<5==>7> F>>4; 
- FD5ED47=O5 F5?<; 
- >E=>6O F5>D<< M?5>FD><47=<F=>7> ?>?O; 
- ?D>F5EEO M?5>FD><5E4=<G5E>>7> ?D5>5D47>64=<O M=5D7<< 6 M?5>FD>46<74-

F5?OE; 
G<5FL:  
- <4F5<4F<G5E>< >?<E4FL ?D>F5EEO M?5>FD><5E4=<G5E>>7> ?D5>5D47>64=<O 

M=5D7<< 6 M?5>FD>46<74F5?OE; 
- D4EEG<FO64FL 5EF5EF65==O5 < <E>GEEF65==O5 <5E4=<G5E><5 < M?5>FD><5E4-

=<G5E><5 E4D4>F5D<EF<>< M?5>FD>46<74F5?5=; 
- D4EEG<F4FL <>M=>EFL < 6O5D4FL M?5>FD>46<74F5?L ?D< D47?<G=OE D56<<4E 

D45>FO. 

 - E>EF46?OFL EFDG>FGD=O5 < D4EG5F=O5  EE5<O >F45?L=OE M?5>FD>GEF4=>6>> 
<  E<EF5< M?5>FD>E=4565=<O; 

6?445FL: 
- E>6D5<5==>= 6OG<E?<F5?L=>= F5E=<>>= < E?5F<4?<7<D>64==O<< ?D>7D4<-

<=>-F5E=<G5E><<< ED54EF64<< 4?O 4=4?<74 M?5>FD>M=5D75F<G5E><E E<EF5<; 
- ED54EF64<< <=EFDG<5=F4?L=>7> 4=4?<74 < >>=FD>?O >E=>6=OE ?>>474F5?5= 

M?5>FD>M=5D7<<; 
- <5F>4<>>= ?><E>4 =5>5E>4<<>= <=D>D<4F<< 6 E5F< �=F5D=5F ?> 7444==O< 

?4D4<5FD4<. 

 

III. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 

 



$���' �� «��&'», ��&' 
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�EFG?<F5?L=>5 <E?OF4=<5 6 <47<EFD4FGDG ?D>E>4<F 6 6<45 ?<EL<5==>7> F5-
EF<D>64=<O. $57G?LF4FO F5EF<D>64=<O >F5=<64NFEO ?> 100-54??L=>= L>4?5. 

�464O= 5<?5F E>45D6<F 15 F5EF>6OE 6>?D>E>6. �>?D>EO 45?OFEO ?> >4F57>-
D<O< E?>6=>EF<: 10 6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 5 54??>6 >464O=) < 5 
6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 10 54??>6 >464O=). %G<<4D=4O >F5=>4 =5 
?D56OL45F 100 54??>6. 

�D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O 3 2 4>445<<G5E><E G4E4 (90 

<<=GF). 
 

IV. �D<<5DO F5EF>6OE 7444=<= 

 

�444=<O >4F57>D<< � 

 

1. '>46<F5 M?5<5=F M?5>FD<G5E>>= G4EF< &-& >>F>DO= =5 6>?NG45FEO 6 E>EF46 
�-%  

  1) �$' 

       2) �$' 

       3) �?>G=O= FD4=ED>D<4F>D 

       4) &D4=ED>D<4F>D E>5EF65==OE =G64 

 

     2.  �4>4O <7 G4EF5= 4E<=ED>==>7> 46<74F5?O =5 <>65F 5OFL <77>F>6?5=4 <7 G>4-
74==OE <4F5D<4?>6? 

1) �5<>F>4 EF4F>D4 - <54L, 4?N<<=<=. 
2) %5D45G=<> EF4F>D4 - M?5>FD>F5E=<G5E>4O EF4?L. 
3) %5D45G=<> D>F>D4 - M?5>FD>F5E=<G5E>4O EF4?L, 4?N<<=<=. 
4) �5<>F>4 D>F>D4 - <54L, 4?N<<=<=, ?4FG=L.  
 

    3.  �>G5<G E5D45G=<> EF4F>D4 4E<=ED>==OE 46<74F5?5= E>5<D45FEO 6 >E56>< 
=4?D46?5=<< <7 <7>?<D>64==OE <564G E>5>= ?<EF>6 M?5>FD>F5E=<G5E>>= EF4?<? 
'>46<F5 ?D46<?L=O= >F65F. 

1) �7 F5E=>?>7<G5E><E E>>5D465=<=. 
2) �?O G?GGL5=<O >E?4645=<O E5D45G=<>4. 
3) �?O >5?57G5=<O >>=EFDG>F<<. 
4) �?O G<5=LL5=<O ?>F5DL 6 EF4?< =4 6<ED56O5 F>><. 
 

 4.  �5<>F>4 D>F>D4 4E<=ED>==>= <4L<=O, 6O?>?=5==4O ?> F<?G «55?<GLO >?5F-
>4», >4> ?D46<?>, <77>F46?<645FEO <7 <54=OE EF5D6=5=, 5E?< =><<=4?L=4O <>M-
=>EFL $2= ?D56>EE>4<F >?D545?5==O= GD>65=L. '>46<F5 ?D46<?L=O= >F65F. 

1) $2= > 1 >�F.   

2) $2= > 10 >�F.   

      3) $2= > 100>�F. 
      4) $2=  > 1000 >�F. 
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 5. %GM5EF6G5F 464 64D<4=F4 <E?>?=5=<O 4E<=ED>==OE <4L<=: 4) >5OG=> <47=<F-
=>5 ?>?5 6 <4L<=5 E>7445FEO ?5D5<5==O< F>>><, ?>46545==O<< > >5<>F>5 EF4F>-
D4 - MF> «=>D<4?L=>5» <E?>?=5=<5; 5) <47=<F=>5 ?>?5 E>7445FEO ?5D5<5==O< F>-
>><, ?>46545==O< > D47=>= >5<>F>5 D>F>D4 - «>5D4M5==>5» <E?>?=5=<5. 

� >4>>< =4?D46?5=<< 6D4M4NFEO D>F>D < <47=<F=>5 ?>?5 6 4E<=ED>==>= <4-
L<=5 =>D<4?L=>7> < >5D4M5==>7> <E?>?=5=<= ?D< D45>F5 6 D56<<5 46<74F5?O? 
'>46<F5 ?D46<?L=O= >F65F. 

1) � >5><E E?GG4OE <47=<F=>5 ?>?5 < D>F>D 6D4M4NFEO 6 >4=>< =4?D46?5=<<. 
2) � >5><E E?GG4OE <47=<F=>5 ?>?5 < D>F>D 6D4M4NFEO 6 ?D>F<6>?>?>6=OE 
=4?D46?5=<OE. 
3) � =>D<4?L=>< <E?>?=5=<< <47=<F=>5 ?>?5 < D>F>D 6D4M4NFEO 6 ?D>F<6>-
?>?>6=OE =4?D46?5=<OE, 6 >5D4M5==>< - 6 >4=>< =4?D46?5=<<. 
4) � =>D<4?L=>< <E?>?=5=<< <47=<F=>5 ?>?5 < D>F>D 6D4M4NFEO 6 >4=>< 
=4?D46?5=<<, 6 >5D4M5==>< - 6 ?D>F<6>?>?>6=OE =4?D46?5=<OE. 
 

6. �>G5<G F>> E>?>EF>7> E>44 4E<=ED>==>7> 46<74F5?O E>EF46?O5F (0,2...0,5) I=, 4 G 
FD4=ED>D<4F>D4 E F4><<< 65 =><<=4?L=O<< 7=4G5=<O<< <>M=>EF<  < =4?DO65=<O 
>= D465= (0,03...0,1)I=.? '>46<F5 >E=>6=GN ?D<G<=G. 

1) �<??<FG4=>5 7=4G5=<5 <=4G>F<< =4 >F45?L=OE GG4EF>4E <47=<F=>= F5?< 
46<74F5?O 5>?LL5, G5< G FD4=ED>D<4F>D4. 
2) %D54=55 7=4G5=<5 <=4G>F<< 64>?L 6E57> <47=<F>?D>6>44 4E<=ED>==>7> 46<-
74F5?O 5>?LL5, G5< G FD4=ED>D<4F>D4. 
3) � <47=<F>?D>6>45 46<74F5?O 6>74GL=O= 747>D (<564G E5D45G=<>4<< EF4F>-
D4 < D>F>D4) 7=4G<F5?L=> 5>?LL5, G5< G FD4=ED>D<4F>D4. 
4) � 4E<=ED>==>< 46<74F5?5 >>=D<7GD4F<O <47=<F=>= F5?< 5>?55 E?>6=4O. 
 

7. �O55D<F5 =4<5>?55 D4E?D>EFD4=5==O= 64D<4=F >>=EFDG>F<6=>7> <E?>?=5=<O 
E5D45G=<>4 D>F>D4 4E<=ED>==>= <4L<=O. 

1) �4EE<6=O= 6 6<45 >F?<6>< <7 GG7G=4. 
2) ,<EF>64==O= <7 ?<EF>6 M?5>FD>F5E=<G5E>>= EF4?<. 
3) �4EE<6=O= <7 EF4?<. 
4) �4> L<EF>64==O=, F4> < <4EE<6=O=. 
 

 8. 'EFD>=EF6> $�� ?D<<5=O5FEO =4 FD4=ED>D<4F>D4E E F5?LN  

      1) $57G?<D>64=<O =4?DO65=<O 6 D56<<4E E>?>EF>7> E>44  
      2) %GF>G=>7> D57G?<D>64=<O =4?DO65=<O 

      3) %57>==>7> D57G?<D>64=<O =4?DO65=<O  
      4) $57G?<D>64=<O =4?DO65=<O 6 464D<==OE E<FG4F<OE  
 

 9. �4><5 ?>4EF4=F<< >F=>EOFEO > FG?<>>6O< 

     1) �>4EF4=F<O, 6>?NG45<4O 6 D4EE5G>G <47<EFD4?L=>= ?<=<< 



$���' �� «��&'», ��&' 

�$��$����  

�%&'��&��,���� �%�/&���/ �$� �$���� �� ��''����  

�� �$��$����� ����%&$�&'$/ «-?5>FD>?D<6>4O < E<EF5<O G?D46?5=<O 
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���$������/ 13.04.02 «-?5>FD>M=5D75F<>4 < M?5>FD>F5E=<>4» 
 

9 

 

     2)  �>4EF4=F<O, 6>?NG45<4O G5D57 >F65F6?5=<5 > ?<F4NM5= ?<=<< 

     3)  �>?GG4NM<5 ?<F4=<5 ?> D44<4?L=O< EE5<4<, < ?>E?54=<5 ?>4EF4=F<< 6 
<47<EFD4?L=>= EE5<5 E >4=>EF>D>==<< ?<F4=<5< 

     4)  �>?GG4NM<5 ?<F4=<5 ?> 46G< < 5>?55 ?<=<O<. � E5>D=O< L<=4< 6OEL57> 
=4?DO65=<O ?D<E>54<=5=4 5MU >4=4 <?< =5E>>?L>> ?<=<=, ?<F4NM<E ?>4EF4=F<< 
F>7> 65 =4?DO65=<O 

 

10. -?5>FD>M=5D75F<G5E>4O E<EF5<4- MF>... 
    1) %>6>>G?=>EFL M?5<5=F>6, ?D54=47=4G5==OE 4?O D4E?D545?5=<O < 
?>FD55?5=<O M=5D7<<  
    2) %>6>>G?=>EFL M?5<5=F>6, ?D54=47=4G5==OE 4?O ?D><76>4EF64 < ?>FD55?5=<O 
M?5>FD>M=5D7<<  
    3) %>6>>G?=>EFL M?5<5=F>6, ?D54=47=4G5==OE 4?O ?5D544G< < D4E?D545?5=<O 
M?5>FD>M=5D7<<  
    4) %>6>>G?=>EFL M?5>FD<G5E><E EF4=F<=, ?>4EF4=F<=, F5??>6OE < 
M?5>FD<G5E><E E5F5= (44?55 - M?5<5=F>6), D4E?>?>65==OE =4 >4=>= F5DD<F>D<< < 
>5N54<=5==OE >5M<< ?D>F5EE>< ?D><76>4EF64, ?D5>5D47>64=<O, ?5D544G<, 
D4E?D545?5=<O < ?>FD55?5=<O F5??>6>= < M?5>FD<G5E>>= M=5D7<< 

 

 

�444=<O >4F57>D<< � 

 

1. �?D545?<FL M>6<64?5=F=>5 E>?D>F<6?5=<5 F5?5= 4, 5, 6, 7, 4 < G>474FL, 4?O 
>4>>= F5?< E>?D>F<6?5=<5 >?D545?5=> =5?D46<?L=>. 
r4=2r. 2) r5=10r. 3) r6=3 r. 4) r7=4 r. 5) r4= r. 

 

 

2. �4> <7<5=OFEO ?>>474=<O ?D<5>D>6 ?D< ?5D5<5M5=<< 46<6>4 D5>EF4F4 rD 

6=<7? '>474FL =5?D46<?L=O= >F65F. 1) U1 G<5=LL<FEO. 2) U2 G65?<G<FEO. 3)  
I1 G<5=LL<FEO. 4) I2 G65?<G<FEO. 5)  I2 =5 <7<5=<FEO. 

 

 



$���' �� «��&'», ��&' 

�$��$����  

�%&'��&��,���� �%�/&���/ �$� �$���� �� ��''����  

�� �$��$����� ����%&$�&'$/ «-?5>FD>?D<6>4O < E<EF5<O G?D46?5=<O 
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3. �>>474=<O, >4>>7> <7 4<?5D<5FD>6 G>474=O =5?D46<?L=>, 5E?<  U=150 B, r = 

30 �<? 1) I1=5�. 2) I2=10�. 3) I3=5�. 4) I4=15�. 

 

  

4.  �>G5<G F>> E>?>EF>7> E>44 4E<=ED>==>7> 46<74F5?O E>EF46?O5F (0,2...0,5) I=, 

4 G FD4=ED>D<4F>D4 E F4><<< 65 =><<=4?L=O<< 7=4G5=<O<< <>M=>EF<  < 
=4?DO65=<O >= D465= (0,03...0,1)I=.? '>46<F5 >E=>6=GN ?D<G<=G. 
1) �<??<FG4=>5 7=4G5=<5 <=4G>F<< =4 >F45?L=OE GG4EF>4E <47=<F=>= F5?< 
46<74F5?O 5>?LL5, G5< G FD4=ED>D<4F>D4. 
2) %D54=55 7=4G5=<5 <=4G>F<< 64>?L 6E57> <47=<F>?D>6>44 4E<=ED>==>7> 
46<74F5?O 5>?LL5, G5< G FD4=ED>D<4F>D4. 
3) � <47=<F>?D>6>45 46<74F5?O 6>74GL=O= 747>D (<564G E5D45G=<>4<< EF4-
F>D4 < D>F>D4) 7=4G<F5?L=> 5>?LL5, G5< G FD4=ED>D<4F>D4. 
4) � 4E<=ED>==>< 46<74F5?5 >>=D<7GD4F<O <47=<F=>= F5?< 5>?55 E?>6=4O. 
 

5. �?O ?D<E>54<=5=<O FD5ED47=>7> M?5>FD>46<74F5?O E =><<=4?L=O< ?<-
=5==O< =4?DO65=<5< 380 �, F>>>< 100 � < cos Ç = 0,8 > E5F< 6,3 >� <E?>?L-
7G5FEO ?>=<64NM<= FD4=ED>D<4F>D. �D5=55D574O 6=GFD5==<<< ?>F5DO<<, 
>?D545?<FL F>> 6 ?5D6<G=>= F5?< FD4=ED>D<4F>D4 I1. '>46<F5 ?D46<?L=O= 
>F65F. 

          1) 4,8 � 

          2) 6,03 � 

          3) 2,79 � 

          4) 8,36 � 

 

 

V. $5>><5=4G5<4O ?<F5D4FGD4 
 

1. �5EE>=>6 �.�. &5>D5F<G5E><5 >E=>6O M?5>FD>F5E=<><. -?5>FD<G5E><5 F5-
?<: 'G55=<>. 4 10-5 <74. 4 �.: �4D44D<><, 2002. 4 638 E.: <?. 

2.  �64=>6-%<>?5=E><= �. �. -?5>FD<G5E><5 <4L<=O. � 2-E F. &>< 1: GG55-
=<> / �. �. �64=>6-%<>?5=E><=. 3 2-5 <74., ?5D5D45. < 4>?. 3 �.: �744F5?LEF6> 
�-�, 2004. 3  625 E. 

3. �64=>6-%<>?5=E><= �. �. -?5>FD<G5E><5 <4L<=O. � 2-E F. &>< 2: GG55-
=<> / �. �. �64=>6-%<>?5=E><=. 3 2-5 <74., ?5D5D45. < 4>?. 3 �.: �744F5?LEF6> 
�-�, 2004. 3  532 E. 
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4. �E=>6O E>6D5<5==>= M=5D75F<><: GG55=<> 4?O 6G7>6: 6 2 F./ ?>4 >5M5= 
D544>F<5= G?.->>DD. $�� �. �. �<5F<EF>64.- 4-5 <74., ?5D5D45. < 4>?.- �.: �744-
F5?LE><= 4>< �-�, 2008- 632E. 

5. �E=>6O M=5D75F<>< : GG55=<> / �.*$. �OEFD<F><=. 43-5<74., EF5D. 4 �. : 
���$'%, 2012. 4 352 E. 4 (�?O 54>4?46D>6). 

 

 


